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Problem:

The figure shows a medium carbon steel shaft transmittingt4 KW from the
bevel gear E to the vertical V-belt A at a speed of 6000r.p.m. The belt is
driving a fan. The cone angle of the bevel gear is 2 y =36°and the
pressure angle ¢ is ¢ =20° The shaft is supported on ball bearings at B
and D

You are required to completely design and draw complete construction
details of the shaft with its connections to the gear, V-belt sheave, bearings
and housing.

N.B. the equations for load components on bevel gears are as given and
details of their geometry (if required) may be found on p. 484 of your text.

Look at the different design developments for the bevel gear drive and the
construction of the corona of the car to develop your construction ideas.
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